N = 541 N = 542 N = 543

541 spheres in a sphere 542 spheres in a sphere 543 spheres in a sphere

radius = 0.103956095425  density = 0.607781032253 [ £3mr radius = 0.103896271526  density = 0.607853853300 [ =3wmr radius = 0. density = 0. ez
ratio = 9.619445554508  contacts = 1579 ratio = 9.624984470687  contacts ratio 9630195092336 contacts = 1574

544 spheres in a sphere 545 spheres in a sphere 546 spheres in a sphere
radius = 0.103777798376  density = 0.608012151035 Q& Srer radius =  0.103698649209  density = 0.607737171205 L& radi us density = 0. 7 Baswn
ratio = 9.635072391483  contacts = 1593 ratio = 9.643327156408  contacts = 1590 ratio = 9.649476866825 contacts = 1576

547 spheres in a sphere 548 spheres in a sphere 549 spheres in a sphere
radius = 0.103569738029  density = 0.607695414847 [ =3wr radius = 0.103516710220  density = 0.607871725680 [ £3wmr radius = 0. density = 0. fEsmr
ratio = 9.655330012711 contacts = 1611 ratio = 9.660276083685 contacts = 1594 ratio 9665447967820  contacts = 1594

550 spheres in a sphere 551 spheres in a sphere 552 spheres in a sphere
radius =  0.103412725757  density = 0.608253540851 Q& Srer radius =  0.103349986940  density = 0.608251063713 HEe radi us 0. 1 density = 0. &7
ratio = 9.669989768472  contacts = 1591 ratio = 9.675859955169  contacts = 1608 ratio 9682299254121  contacts = 1620




